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i Wwhich among the Tollomwing agency thic government of Indin gave ._\cll‘.nr-h‘un [ (4] a.i'.r:\_-uanl the
R‘L‘J | 1"L'1I
(A)y SIT By LTI
() AS| (D Tl
8 Who was the Govermor-¢ s el of Thdia hetween 124% and 18567
{A) Lord Rippon (By Lord Dalhousie
) Lord sountbatten (t  Lond oardhinge
3. Wwhich of the followang (e vefers Tk Your eustomer’
(AY CTEKY (By TKC
'y KRCY (y KYC
4. WwTO 11" mMinisterial Conference to be held in
(AY Buenos Alres By Tokyo
(C)  Singapore (1 Bapng
S, Wha ig the *21 i Chief Minister o1 Uttar Pradesh ;
(A)  Capl A nrinder Singh (B) ywkhilesh Yadhav
() Prakash Jav adekay i Yo Adity anath
0. Which among the following 1s i1 important lake 10 South Kerada &
A Kumbla (H) Bekal
() I\'n_\..ml-.-.ll.m'- 5} Kalnad
1. The c.v:nt,ll of Marthunda Yarma was at
(A) L olachel (B) Kalkulam
(Cy Vizhmmjam (D) pudimanabhapuram
8. Ceonomic sy jiies included in the prijmary. -econdary and tertinty qectors arc classified by
(AY CS0O (BY NSPC
wy Gs1 (m MOST]
9. wWhat 15 eommaon about the highest peak Mt Everect and the deepest greneh, the Challenuer Beep
of Pacific Lleean
(A) Parts of Crust (B Puns ol Muntle
(Cy Parts of Core () Parts ot Lithosphere
10. What isthe chronulogical order of the vvenis of the following =
B it ndia Muovement

W aikam Sulyagraha

A

& Chauri Chauga Incudent D
(A) ACDB
(Cy DCAB

Maliabar Rebellion
(B1 BACD
Dy CDBA
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16,

18.

19,

20,

Which of the following river is not originated livm the peninsular plateay ©

(A} Godavan (B) Indus

(C') Kaveri (D) Tapt
Find the odd man out -

(A)Y Shimla (B) Sojila

(C) MNathula (D}  Banihal

Which among the following is a bey erape crop ?
(A) Jute (B) Pepper
[Ty Cotton (D) lea

Whao did bring the proclamation of Free Primary Education in 1817, Travencare
(A) Lakshmi Bai
(B) Gauri Parvali Bai
(€7)  Utram Tirunal Marthanda Varma
() Swati Tirunal

Who among the following Women's leaders of the national movement was not a member of the
First Women Conference beld at Vatakars' in 1D3] 2

(A) ALY, Kuttimalu Amman (B} Akkamima Cheriaa

{(C) Annie Mascarene (D) Noneof these

Who was appointed as the Governor of Orissa mh [952 2
(A) Fazl Al (H) K M. Panikker
(C) V.P. Menon (D) N Kunzru

“Yoga System of Philosophy” wis advocated by
(A) Brahmanandg Sivayogi (B) Chattampi Swamikal
(C)  Swami Vagbhatananda (B Vaikug Swami

Who among the following has an honoured place in the history of jounalism in Kerala 7
(A)  Ayyinkali (B)  Vaokkam Abdul Khadi Maulavi
(C) Sri Narayvana Guru (D) K. Kelappan

The Fitst Circus Training Institute m Tellicherry was founded by
(A)  Pandit Karuppun (H)  Thycaud Ayva
(C)  Unni Krishnan ()  Keeleri Kunhikannan

Which of the following strike was not led by Gandhiji 7
(A)  Champaran Satyagraha
(B) Cotton Mill workers in Ahmedabag -
(C')  Home Rule Movement
tD)  Stnke for Non payment of Tax, Kheda in Gujarat
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23,

0.

liv o metrie micrometer, a complete revolution of thimble advances
(A) 1 mm (B) 025'mm
(C) OS50 mm (D) 0.0 mm

An engine runming in closed garnge is dangerous because the exhaust gas contning

(A) | Carbon dipxide (B) Carbon monoxide
(C) Water vapour (D)  All of the above

The least count of Vernier Calliper is

(A) 0.02 mm (B) 0.0 mm
(C) i (D) 0.05mm
For tightening eylindéar hend nuts we should prefer (o use
(A)  Pipe wrench (B) Torque wrench
(C)  Ring spanter ()  Adjustable spanner

Before you work under a car, make sure that

(A) the tyres are inflated
(B1 useacreeper
() ¢t

car is supported on screw jack

(D) the caris supported on safety stands

[he minimum number of COMPression rings m an automobils L_-ngtny is
(A Wi (B2) one

(C) three (D) sia

Fhe device tor amoothing out the power impulses from the engine is called
(A) Governor (B) Crankshati
() Fywheel (D) Cluch spring

As the piston moves up in the eylinder during compression, the gir fuel mixture
{A) pressure gocs up (B) tempeialure goes up

(Ch pressure goes down (D) both (A) and (B)

The valve train of o push rod engine include o cam and

(A)  Tappet, push 1od {(B) Tappet. push rod. rocker arm
(C)  Push rod. rocker arm (1))  MNonedf the above
-
5 081/2017
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J1.

3a.

4.

zar box used i mw
(A)  Automatic (BY Synchromesh
(C) Selective (D) Progressive

The air tuel misture reguired ot the time lhl'gll,:::nl_u_--.‘;;nl 15

(A)  Optimum mixture (B) Lean mixture

(C) Rich mixture (13 MNone of the above
In CI engine, the fuel is isnited by

(A) the heat of compressed hot air
(B) the heat of intake 2as
(C)  the heat ol exhoust gus

(D) anelectric spark

T'he distributor shaft tums at
(A) halt the speed of crankshaft
(B) halfthe specd of camshafi
1) same speed ot ernnkshati
(DY twice the specd of camshaft
Valve overlap means
{A) early opening of inlet valves
(B)
(C)
(DN

early opemng of exhaust valves

both inlet

and exhaust valves are closed

by i

and exhaust valves.are opened

The discharped lead aciid battery has

()

ins plates
Lead sulphate (B)

Spuniy lead

(C)y Lead peroxide (D) H,S0

A cultipensiation Sysiem

(A)

s Incorporiaied i a constant choke carburettor is to prevent

| 1 »
2h speed (B

tlooding at hi richness at high speed

(C) weakness at high speed (13)  richness at low speed
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8.

B ==
In tour stroke engines, power produced at
(AY  ench revolution of crankshaft (B) two revolution of crankshafi
(C)  four revolution of e it (D none of the nhove
A three eylinder engine has a copacity ol 1.2 res: The swept volume of anc cyhinder is
{A) 400 em (By 400 mm*
(C)  1200.em (D 1200 mm
The purpose of valve clearance is 1o
(A)  ensure thal valve opens |-;|i|:\
(B} allow the valve to expand during hot

4.

41.

43

44

(C) allow ¢ to shide up and down freely

2y all of the above

l'l.l

*h, the clutch dise provided with

(B) Thrust springs

(B2)  All of the above

Diaphragm spring type cluteh s widely used in

(A) Cars (B) Motoreycles

(C) Sceooters (D) Trucks
AN @ngne hag o clearance valume of 100 em® and aw epl volume of 900 |_'F'|'|-‘ The -c|'-]1.'||‘|r|;:\_\i-u|:
i s

(A 9:1 (R) 6 |

[ { o) TS By 1:9

(A) poOwWer (H) Engine torgue
(c') fve (D) - Speed of engine
e rotary awiteh in the distiibutor is formed by the
(e Distributor ¢ ap and rotor (H) Rreaker cam and rotor
-
(C)  C.B. points and rotor (D)} C.B. points and ignition coil
7 0172007
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45, In the electronic ignition system, the primary circuit is opened and closcd by

(A) C.B. Points (B) Iy

() Elecronie Control Wit (13) Breaker com

46. Hydrmulic braking System works on the principle of

(A)  Farmday's Low (B) Pascal's Law
(C) Newton's Law (D) Boyle's Law
47.  Which oiie of the follow g item s made of aluminium alloy
{A) Piston An (B) Piston
() Connecting md (D)  Crankshaft
48. Two methods at resizing evlinder bore are
(A} Bewing und Hoping (B) Grinding und Honing
(€ Reaming and Honing () Honing and [ apping
49.  The part of an ignttion-system which transtforms the voltage from 12 V 1o 25000 V ie
(A)  lgnition eoil (B). Distributor
(C) Raotor (D)  Spark plug

50. Whichone of the following is mounted bebwesn the engine aml gear box
(A) Propeller shakt (B) Clutch

(CY  Funal drive (D}  MNone ol the abave

S51.  The function of gear hox in an automobile is to
{A)  Vary torgue

(B)  Connect the engine power gradualy
(C)  Allows permuinent speed reduction

(D)  Allows auter wheels runs (aster

52, Electrolyte used in a legd acicd batlery is

(A} Biluted sulphorie acid (B) Sulphuric acid =
(€Y Distilled water (D) Nitrie geid
(81/2017 ]
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eratlure gavpe hdivates

(A} Engine evlinder temperature (B)
ic) I ik iy temperiture I]“]
vucthnon of Flvwheg] { ooter enwine

(A} store enefgy during power stroke
|-”-' 1!

(') s an

1) A of the shove

Which part 1

Fnot common between the petro)

|
1A) SUencer

()
(13)

(AY Inward il of King pineat the ton

Chitward til of King min at the top

Backward (il ||I-;,|:|:.‘ pin at the top

(X Chitward mir of wheals at the top

(B
(I

Engine overhouling idicates

LA excessive fuel consumption (B)

(L) -||"'-|;.- overheat the CH&EE LEX)
Find out the vl o

(&) F 1 jecin (R)

onodeny

(D)

I'-.:'-.-'.»-u.-.LIL-._|-.,

™ oear oy 10t

(A)  chnin an

ket B

propeller shaft (1D}

g

Coolant temperature

Al ol the alove

uidd diesel engines ?

Alr cleaner

Il;j._'L".A-r

onedipper filament

Mone of the above

CRuasive ol l':‘ll]-.LHj'Lrl] 1

Al of the above

Spark plug

Distributor

arsmitted to the road wheels throualh

pully and belt

Yl

of the aboy =
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Gl Ihe thenmodynamie 1 sl in petrod I 1s
: ) CYroie e le
(A Duul evile (B) Camot cycl
C) Otter oycie (B  All of the abave
2. Lo mensure ovality and taper of ¢y DOTE 15
deromiter (B)  Diol indicator
i hiore (m Al of the above

¢ ex sl svsiein

(A) will reduce back pressore
(B)  will increase back pressure

1 DITK |"'|_-. LITE

four diftferential

(D Mone ot these

5.

hh,

veal stability

r

i i e oan b o -
(A) atlc pump (B) el
1 3 A1l '
(C) shiding joim (¥ Al o
6OH. Aluriyinium evlinder hlock reguires

(B) Cast i Hnses

wmanium lind

{C), Brass hiners (Dy Nolinets

0D81/2017 1] A




69,

7.

71.

73,

Find 'vut the odd one from the follow ing:
(A) Wheel cylinder {B) Bleeder valve

{C)  Rubber eup (D) Thermosiar valve

Which of the fullow ing makes it possible 1o inerense the bailing poiit of conlant
(A} Radiator core (B) Coulumn U

(C) Radiatyr pressire cap (D) All of the abayve

Which type of cluteh ix used in modern SCOOTCs
(A) Diaphragm By enteifugal

(C1 Multiplate (D) Automatic

Mechmnical hrake s¥stem is generally provided as sem e brakein N vehicles
(A) Trucks (B) SCivMersg
(C) Cars (D) Auto-rickshaws
Which transmissic MEINHS ransmits power a1 varied angles and varied lengths 2
(A)  Chain drive (B) Belt drive
(C)  Propeller shaft (D) All of the above
As applied (o steering, the abbreviation P.A.S. stands for
(A) Power Aided Stecring (B} Powes Assisred Steering
(") Pump Assisied Sl'r.:L‘th.-_' (D)} Power 4 cted Steering
At the ventury of carburctior, the pressure of air is
(A} Maxingum (B) Increases
(C)  Decrenses (D) Sume as hefore
Feed pumps m diesel fhames are penciully mounted i betwieen
(A)  Tank and injection pump (B)  Injegtion pump fector
(C} Tank and filter (DM Filter ang Injection pump
It the follow Ing statements, which is not suitable for diesel engines
(A)  High initial cost (B} High THRNING COst
(€ High mointenance cost (D) High ¢ MMpression pressuge
1 G81/2017
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84,

Puring the upw wrd strake of a two stroke petrul engine, W

(A) QCuiipression and Exl

it (H)  Compression and Powal

Transt

(Cy  Compression and Suction (D) Compression am

Which type of lubnieation system is gerernlly adopled in two stroke petrol engines ?

(A) Splash system (B} Pressure system

s svsiem (DY Petroil systemn

{(CY e pi

— T v = 1 1 i
Engine is a muchine which convert

(A} Mechanical energy inta heat energy

(HY Electrical enetgy into mechanical energy

() Heat enery mto mechanical energy

(DY Mechanical energy into electrical encrgy

The distance between BDC to TDC is
(A) Y (B) 45

(Cy 180 (1) 360°

e distance between the centres i thie fronm and rear wheel 18 Known as

(A) len (B)
(' Wheel base (D) Wheel track
The type of fuel feed system is use cle 1=
(A) v feed system (H) Pressure feed system
(Cy  Thermio syphon sysiem (B} Autovac system
Rapid wear in the centre of traad of tyre is due to
(A)  Underinflation (BY Owernti

(C) Excessived (D) Excessive caster

Which one of the

(A} Check valve (B)

(Cy  Pistiny rmgs (1Y)

081/2017 12
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e state ol chig i --l|'u'-';.\.i-|
(A} Cell testen (B} Hydromete
) { (D) Allal the ahove
87, Fhie ool tsad for pe .'.:1:'|.'|_:_f_ PISON rings an piston js
(A) p 2 expandey () i
‘L8 '

14 COImMpréssor
ve clenrie

Circlip p

ers
88, The Pressiire in the Engine cyvlinder become iess than the tmosphieric pressy e during:
Al Exhaue (B) Powey
() DM pression (3} Suction
89 ranster case T
(A} Single w neel drive s chicles (B) Two wheel drive vih
R | winee| |.||.' Y 1 ‘-'h]\.'l'L':‘ (D) All of the aboy (4
20. A fINg gear 5 provided rouned the engine (1) |
CA) to nansmii Power 1o the eear box
{B) 10 start the ¢ ngine using self-startes
L) T 17 ansmit powerts the water p
(D) toomray HTHE power to oil Pt
al. tuel l':fln--!'|>._-.'.'.

(A)

CUEINE 1S Comtrs

Feed pumy

8) 1
(D)

Carhurelior

02w DLCTREN 1% frype 9
wheel is needed iy WO stroke engines
(B) Aywhee] is tecded i four strolke engines
(C) ine efficiency is Mghin two stroke cngines
(DY Volumetiic e iciency is less in four stroke engines.
93 |.|:L'\.I'i-l!l'.l"|'.'l

thal cuuses vapoyr locking in a bry

ke system
(A)  Keeping the y chicle without yse har a long periog
(B)  Owverenal 12 0 the brake during high speed driving
() enting of the Ayid due to frequent brake applhication
(I I!|_--I!._|'.;_-.--|.-

Sped o o down il road

13
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up of a fuel into fine drops by spraying is called

94. The breaking

(AY Carburation (B) Atoimization

.{--I \.-.|;|\-|i_.',||;‘|,i ”-H "'L-li L‘T Ti'u_' 1!""\'2
g5,  The funcrion'of o generston i an automobile 15 1o

(A convert engine power into electrical powes

(B} convert mechamical energy into clectrical encrgy

(CY convert cledtrical ener wehanieal enerpy

inte

fl.h Mone of the above

06, The muin function of the ipnition condenser 18
(A) retuce mreing at the C.B. points

(B) redu

e secondmry spark

() Incrensec ur

ot the contact poants

(D} Al ot the above

97. The most cffective air cleaner in case of diesel engine is
(A) Drytype (B) Wet type
(CYy Wauter bath type (D)  Oil bath type

YK. The brake lining consists mainly of

(AY Castiron (B Copper
(C) Rubber (DY Asbesios
09 Ihe cammon firing order of six cylinder engine is
(AY  [-2-3-4-5-6 (B) 1-6-5-4-3-2
(Cy 1-5-2-(-3-4 (DY 1-5-3-6-2-4
100. Taper necdle jef i< found in
(A) S carburcttor (B) Solex carburettor
(CYy Zenith carburetton (D) All of the above

08t/2017 14 A




